EAGRAROBREERT — 2 N— ABISH —F 20206F98 198 (&) 4mE4LU3H

mﬂa%zﬁ KBSF ALERS (w8 | imEmml - |5 ) w8
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
s NN BEHXtF 1. — . . BATR ()
gl 7v7 /920y 2 8 e S Dt e B o et
LF7ITIVATLR BUNMLT A= PRI BEA
53 w # 2 | B 1:11.7 6-4 36.8| 84.6 | 2 476 | =HIKE (RR)
EH 4| TF¥—AvY 54.0 (1/2) (o) | W) xSl YT A
RikyA—&IYI B:IFY—N—F ERS
i S 4 2 | MEEE 1:11.9 1-1 38.2| 82.6 | 1 458 | BESEE (ERH)
3lgl13| /771772 54.0 (1 1/8) (+4) |EWARS
R:YIRGT4 TR B:ETLT IR SEHAS
< — 0w FhLists :13. - . . EHR (EH)
4 o| X3avEFLY i 2 el 1(13)5 7-7 38.4| 68.5 | 12 33)2 e
LNMVTSY BTIFIS iy FR
. 42 | WEEL 1:13.9 11-9 38.1| 65.0 | 7 476 | IMRIITE (i)
5|7 12/ 417~ A51.0 @ o) | EHIBE
L:xA1=ZYr7—2 BS54 TYT [ ae )
W= # 2 | ARES 1:14.0 33 39.9| 65.8 | 6 | 486 |fEEEERES (G5id)
6 2| A1 =YRT T 54.0 (1/2) -10) | (B RE=FT7—1
Z:anN/)Fv—K BNILT Ry T ZE— K77 —L
7 it 2 | MBAA 1:14.2 8-8 38.8| 62.7 | 13 | 432 |HEHHRE (EH)
7l5/g| 71T7L 2R 54.0 1 4g) | 7T 7TZE—T 74X (i)
Z:nNd B:TANTTVaA AARPRERE = ASE KE
N - = JLHRRS : - EFEZ (ER)
8 NELESI=EIN i 2 e 1(.11/42.)3 11-9 38.5| 61.7 | 9 ;1_2‘3 e
L:70ITA42—-2 BAI/NLTEA EllP Nt ie]
U 4 o2 | AKWEIH 1:14.6 10-12 38.9] 59.4 | 11 408 | RIS (EH#)
9|5|7 |/ Bvvx—=U 54.0 ) (-g) | RBHIEK
L:RwIx27 B:VAHLy b 5 45
i 2 | AEEt 1:14.7 8-9 39.4| 58.9 | 10 | 460 |EWA=E (EiH)
100111 2 HF K ¥¢53.0 (7€) (o) |EMEXS
RikyA—4WRI B:TLT4H4T5Y HE SRk
=S 4w —L i 2 5%?@1% 1:15.5 4-4 41.3| 55.4 | 4 472 éﬁj;% ()
(5) (-8)
LT RIA Y L—2 BZL/vF TIFN T — I
- HLTRRA : — NFI|% (Em)
EvSY¥oy X L s (11.135/.5 5-6 41.2]53.0| 5 (4;0) ;i\ﬂﬁ
R:YVZABZ—3IZX%Z— B:a dyvwRF KA R
. EEH : - SIRE (%
FYINHE— it 2 ig_gﬂ 1.(126).1 14-14 | 38.8| 46.6 | 8 (432) %nEL ES5)
L:yA7% B:7—RFNT-— 24 N1 K5
N o | UBE#IR 1:16.5 13-13 | 40.1| 45.2 | 14 | 434 |EHEEM#E (E#)
U3ax7 b # 54.0 @ 1/2) ° (_34) (&) IVT7—L4
RTANNTTFHF— B:HREZUT FUFLT7— L
@ 21 L
£y 49.3-37.9
NO>24 L | 11.7-10.6-11.4-12.0-12.3-13.6
® I—F—&EBIERL
13-7-
23—7F—
30—7F— 13,14-2,6-3-4,9(1,8)-7(10,12)-5=11
Mal=5r= 13,14-2(4,6)3-9,8(1,10,12) 7=5-11
[ N
BB 14 4800 | | 71 K 4-14 380 | | # = 3-8 290/ | | 3:=tE | 4-13-14 780M
7 B 14 140 13-14 21| | B = 4-14 1,070 | | & [ 14-4-13 4,810M
4 130H4 4-13 230M B H 14-4 1,740/
13 1209

ABRICOVTHRTEEERROODE, THEB LS,



